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[[ERiva K % 1 2 | GROSS | HDCP NET [ERiva K % 1 2 | GROSS | HDCP NET JIIE 452 K £ 1 2 | GROSS | HDCP NET JIE {5z K % 1 2 | GROSS | HDGP NET
1 |148H HEF 53 | 48 101 31.2 69. 8 51 [FKR F# 54 | 49 103 27.6 75.4 101 |FAH =X 42 | H 83 4.8 78.2 151 |48 K &+ 46 | 61 107 21.6 85.4
2 |HE B 59 | 51 110 39.6 70.4 52 |[H3 A A 43 | 47 90 14. 4 75.6 102 [/NE  #]=E 45 | 44 89 10. 8 78.2 152 |iBFkK EiE 54 | 56 110 24.0 86.0
3 | HE EhE 43 | 44 87 15.6 1.4 B3 [N&E EF 44 | 46 90 14. 4 75.6 103 [db& FH— 42 | 47 89 10.8 78.2 153 |#A I=EfE 62 | 62 124 37.2 86.8
4 b A— 45 | 42 87 15.6 1.4 54 | & EA 44 | 46 90 14. 4 75.6 104 |E7%t BB 50 | 45 95 16. 8 78.2 154 |[##K EZER 53 | 53 106 18.0 88.0
5 [y ®E 44 | 47 91 19.2 71.8 55 |H#LE ZEM 48 | 48 96 20.4 75.6 105 |l =& 49 | 46 95 16. 8 78.2 155 [B/K Rif 64 | 66 130 40.0 90.0
6 |HE KB 46 | 45 91 19.2 71.8 56 |[B& 3k 49 | 47 96 20. 4 75.6 106 | R+t iEBA 51 | 56 107 28.8 78.2 156 |FHFE FA 69 | 51 120 26. 4 93.6
7 (B =EA 44 | 47 91 19.2 71.8 57 |l ERA 49 | 47 96 20.4 75.6 107 |<E =B 55 | 45 100 21.6 78.4 157 (4t = 57 | 66 123 28.8 94.2
8 [FH BB 52 | 56 108 36.0 72.0 b8 [Fi#l s 43 | 53 96 20.4 75.6 108 |l % 46 | 54 100 21.6 78.4 158 |5 BX 70 | 65 135 40.0 95.0
9 (&H = 50 | 51 101 28.8 12.2 5 R =& 52 | 50 102 26. 4 75.6 109 (B Ht 56 | 56 112 33.6 78. 4 159 | =B Ai# 13 | 74 147 40.0 | 107.0
10 | FF= 47 | 47 94 21.6 72. 4 60 [{FiE EiR 48 | 40 88 12.0 76.0 110 |7/8 56 | 55 111 32.4 78. 6 160 |[#24 = 72 1 79 151 40.0 | 111.0
1 |BfE &7 40 | 41 81 8.4 12. 6 61 |iE #H 46 | 48 94 18.0 76.0 1M1 |\ E 55 | 56 111 32.4 78. 6
12 |EER B 46 | 47 93 20. 4 12. 6 62 (%A FEEif 46 | 48 94 18.0 76.0 112 st Fw— 42 | 48 90 10. 8 79.2
13 |#FE #FIBA 46 | 47 93 20. 4 72.6 63 |EEA BE 53 | 47 100 24.0 76.0 113 |[AF% B 47 | 43 90 10.8 79.2
14 |0 E 7E 42 | 50 92 19.2 72. 8 64 |1&F = 53 | 53 106 30.0 76.0 114 | 5% [Eth 51 ] 49 100 20.4 79.6
15 | KE gz 52 | 52 104 31.2 72.8 65 |{&)Il 3CBH 45 | 42 87 10. 8 76. 2 115 |fEH =BAE 48 | 45 93 13.2 79.8
16 |1FH [EzB 41 | 44 85 12.0 73.0 66 [{EAT BiEx 49 | 50 99 22.8 76.2 116 |BH Jtif 54 | 51 105 25.2 79.8
17 | E shtt 41 | 37 78 4.8 73.2 67 |/FA IE 54 | 45 99 22. 8 76.2 17 | B 57 ] 60 117 37.2 79.8
18 |HJIl #HZX 40 | 44 84 10. 8 73.2 68 [;(IO IE(E 49 | 50 99 22.8 76. 2 118 |EJII BBF 57 | 60 117 37.2 79. 8
19 [chJIl BASE 46 | 43 89 15.6 73.4 69 ([BF EHEER 52 | 47 99 22. 8 76.2 119 | LA B 50 | 48 98 18.0 80.0
20 [dt¥ HE 46 | 49 95 21.6 73.4 70 |YEE FOF 52 | 417 99 22.8 76. 2 120 [ KPE FE=E 53 | 57 110 30.0 80.0
21 [lu# E= 48 | 53 101 27.6 73.4 NN |eH =E 56 | 49 105 28.8 76.2 121 |E&H {& 57 | 59 116 36.0 80.0
22 | EB 59 | 47 106 32.4 73.6 2 5B+ Ez 50 | 54 104 27.6 76.4 122 |2 EA 44 | 47 91 10. 8 80. 2
23 B W= 40 | 41 81 1.2 73.8 13 | kR #%k 56 | 54 110 33.6 76. 4 123 |BM@E AI& 44 | 47 91 10.8 80. 2
24 |f2@ 2 44 | 43 87 13.2 73.8 14 |BE = 40 | 39 79 2.4 76. 6 124 Il 2 46 | 45 91 10. 8 80.2
25 |B® Ig= 46 | 45 91 16. 8 74.2 75 [de)l IE= 45 | 46 91 14. 4 76. 6 125 |HAd %E— 50 | 53 103 22.8 80. 2
26 [;hR B 40 | 44 84 9.6 74.4 76 (B #ER 46 | 45 91 14. 4 76.6 126 [JIIHF —R 55 | 47 102 21.6 80.4
27 |EB BER 42 | 48 90 15.6 74.4 11 |Z HEF 50 | 53 103 26. 4 76.6 127 |BB@E FEs*E 53 | 55 108 27.6 80.4
28 |puim s 52 1 50 102 27.6 74. 4 18 |HE BE 51 | 58 109 32.4 76.6 128 |FiR HAIE 58 | 56 114 33.6 80. 4
29 [{EE EX 55 ] 53 108 33.6 74.4 79 (A XK— 45 | 51 96 19.2 76. 8 129 |BkIE = 59 | 47 106 25.2 80.8
0 | X% EE 40 | 43 83 8.4 74.6 80 |&%F B 53 | 49 102 25.2 76. 8 130 |MTR IEX 51 | 54 105 24.0 81.0
31 [IUAR TR+ 46 | 43 89 14. 4 74. 6 81 |{Fik f& 54 | 54 108 31.2 76.8 131 |5 = 48 | 57 105 24.0 81.0
32 ¥R HiE 43 | 46 89 14.4 74. 6 82 |51 HAiE 49 | 46 95 18.0 77.0 132 |HLE BT 60 | 61 121 40.0 81.0
3B Bif 47 | 48 95 20.4 74. 6 83 |85k THER 48 | 40 88 10. 8 11.2 133 |FEEH Hz2 50 | 42 92 10. 8 81.2
34 [k ER 48 | 47 95 20.4 74. 6 84 |FEHF R#E 52 | 42 94 16.8 11.2 134 |A® FE 55 | 417 102 20.4 81.6
35 /Mg EriE 53 | 48 101 26.4 74. 6 85 |k FIE 55 | 45 100 22.8 11.2 135 MER A %17 47 | 55 102 20.4 81.6
36 [1EH HEB 44 | 44 88 13.2 74. 8 86 | K& F0i# 51 ] 49 100 22.8 11.2 136 |IlLO fEE 51 | 57 108 26.4 81.6
37 Iy X 44 | 44 88 13.2 74. 8 87 |¥EER =¥ 55 | 51 106 28.8 11.2 137 |HE & 49 | 57 106 24.0 82.0
38 [ILA =FEF 45 | 49 94 19.2 74. 8 88 |AE 46 | 47 93 15.6 17. 4 138 [EXR HEE 54 | 51 105 22.8 82.2
39 |d#ith ER 51 | 43 94 19.2 74. 8 89 |#F & 53 | 52 105 27.6 117.4 139 [ K& —=% 56 | 61 117 34.8 82.2
40 |EAB & 49 | 51 100 25.2 74.8 90 [(®H# tE2 54 | 51 105 27.6 717. 4 140 [EER H— 50 | 51 101 18.0 83.0
4 |FEH & 44 | 43 87 12.0 75.0 91 [{E<K ®ZE 53 | 58 111 33.6 77.4 41 |FHE EAER 55 | 58 113 30.0 83.0
42 |)\B 3 45 | 48 93 18.0 75.0 92 B =& 43 | 49 92 14. 4 77.6 142 | L& F 51 | 55 106 22.8 83.2
43 146 BA 46 | 53 99 24.0 75.0 93 & ¥ 49 | 43 92 14.4 77.6 143 [)K&A 48 | 50 98 14. 4 83.6
44 (Bl mE 52 | 417 99 24.0 75.0 94 |BEFH HIiIE 53 | 51 104 26. 4 17.6 144 (44t B 53 | 60 113 28.8 84.2
45 | KA B 49 | 50 99 24.0 75.0 95 |FIE f& 47 1 50 97 19.2 77.8 145 |[B@H EXRX 61 | 58 119 34.8 84.2
46 BN K 43 | 56 99 24.0 75.0 96 |KAER EBE 50 | 46 96 18.0 78.0 146 |JII& HE&SA 55 | 57 112 27.6 84.4
47 1A & 55 | 56 111 36.0 75.0 97 |[&H IEZ 45 | 51 96 18.0 78.0 147 |E+# FEX 50 | 54 104 19.2 84.8
48 [INE  #H— 52 | 40 92 16. 8 75.2 98 |de)Il 2= 51 | 51 102 24.0 78.0 148 |¥&E R 52 | 58 110 25.2 84.8
49 [HE BA 46 | 46 92 16. 8 75.2 9 (EimF #Xx 51 | 51 102 24.0 78.0 149 |5H = 59 | 55 114 28.8 85.2
50 [& X 52 | 45 97 21.6 75.4 100 |#E+t EXE 57 | 51 108 30.0 78.0 150 ik =¥ 60 | 60 120 34.8 85.2




